Quiz 2 for Math 271

July 13, 2005

...................................

Instructions. You have 35 minutes to complete this quiz. Please provide
detailed solutions for the exercises. Only complete answers with sufficient ex-
planation are worth full credit. No open textbooks or notes are allowed.

1. (5 marks) True or false? For all integers n, n? — n + 1 is a prime number.
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2. (5 marks) Prove or disprove: For all integers a and n, if g |n? and @ < n
then a | n.
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3. (5 marks) Prove or disprove: The sum of any two poisitve irrationa num-
bers is irrational.
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4. (5 marks) Prove the statement. If @,b are rational numbers, b #0,and r
is an irrational number, then a + br is irrational.
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